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QUESTION 1

The customer is upgrading their z196 processor this weekend and wants to know what IBM team can configure an
upgrade for additional capacity. Which team or group would configure this for the customer?

A. Manufacturing

B. Service Support Representative (SSR)
C. Technical Specialist

D. Customer Fulfillment

Correct Answer: C

QUESTION 2
Which of the following customer environments would be the fit for the placement of a zBX?

A. Customers with a large Intel environment that are running a mix of old and new servers running a mixture of Windows
operating systems releases

B. Customers already running a IBM System Analytics solution on POWER.

C. A customer that is running a legacy application in a multi-tier environment where the database is running on System
z and the application servers are running on HP servers running a current Linux release.

D. A customer that is already running an X150 DataPower solution and wants to relocate their X150 blades over into a
zBX to take advantages of the Unified Resource Manager Qualities of Service.

Correct Answer: C

QUESTION 3

What is a differentiator of the System z compared to other hardware platforms?
A. System z utilizes faster memory to accelerate application execution.

B. System z utilizes SAP for offloading I/Os from standard processors.

C. System z platform provides spare processors to improve availability.

D. System z is the only platform that exploits memory protection technologies.

Correct Answer: B
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QUESTION 4

Which new z196 feature provides significant error detection and correction capabilities for bit, lane, DRAM, DIMM
socket and memory channel failures?

A. RAS
B. RAID
C. RACEv
D. RAIM

Correct Answer: D

QUESTION 5

A System z FTSS needs POWER blades configured for a zBX.

Which of the following procedures should be used for this configuration?

A. The z FTSS configures all components for the zBX using zManager configuration tool

B. The z FTSS should provide the POWER blade requirements to the POWER team

C. POWER team should configure the blade type normally acquired by the customer for a BladeCenter
D. The customer should configure through the IBM Workload Estimator

Correct Answer: B

QUESTION 6

A customer is planning an upgrade to a z196 from a System z9. They still have a high number of ESCON /O channels
on the current machine. The customer has no immediate plans to migrate away from their ESCON attached I/O
devices.

Which of the following actions should the Technical Specialist suggest?

A. The customer should purchase ESCON to FICON convertors for each active ESCON port.

B. ESCON channels are still supported on the System z196, no additional steps are required

C. IBM Global Services may conduct a onsolidation Analysis to help better understand the customer environment.IBM
Global Services may conduct a onsolidation Analysis to help better understand the customer environment.

D. The customer must verify the number of active ESCON ports required. Fewer than 240 ports may be carried over on
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the z196. Additional ESCON ports require ESCON to FICON convertors.

Correct Answer: D

QUESTION 7

A customer has a Power with AIX server farm with network connectivity to a zEnterprise processor. Which of the
following would represent a potential zBX opportunity for this customer?

A. The customer wants to accelerate certain DB2 on zEnterprise queries.
B. The customer wants to accelerate their DB2 on Power with AIX.
C. The customer wants a stand-alone zBX with Power blades to free up floor space.

D. The customer wants to move Linux virtual machines from the zEnterprise to a zBX so that the Linux applications can
be closer to a Smart

Correct Answer: A

QUESTION 8

Which of the following includes major components needed to place an IBM zEnterprise into a Parallel Sysplex clustered
environment?

A. A coupling facility, two z/OS partitions, STP and coupling links

B. A coupling director, a z/OS and a VSE partition, STP and coupling links

C. A coupling director, a z/OS partition, a zBX, STP and coupling connectors

D. A coupling facility, a z/OS and an AlX partition, STP and coupling connectors

Correct Answer: A

QUESTION 9

A System z customer technical staff is planning to upgrade their z9 to a new z114 with a Migration Offering. The
customer group is discussing their plan with the System z technical specialist.

Which of the following customer statements is in error and must be corrected by the technical specialist?
A. The plan must include an accurate measurement of the z114 performance and capacity.

B. The post installation plan should consider that the z114 might have to be taken out of service for micro code updates
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C. For a Migration Offering upgrade the existing mainframe and parts must be returned to IBM within 120 days of the
z114 ship date.

D. The post installation plan should include disaster recovery considerations including emergency generators for
operations, lighting and cooling.

Correct Answer: C

QUESTION 10

A customer has PSIFB installed on his z196 processor. The customer wants to know how many CHPIDs can be
configured across the two ports on the HCA card?

A. 16
B. 24
C.12
D. 18

Correct Answer: A

Latest C4070-604 Dumps C4070-604 PDF Dumps C4070-604 Practice Test

Latest C4070-604 Dumps | C4070-604 PDF Dumps | C4070-604 Practice Test 5/5


https://www.passapply.com/c4070-604.html
https://www.passapply.com/c4070-604.html
https://www.passapply.com/c4070-604.html
http://www.tcpdf.org
https://www.passapply.com/c4070-604.html
https://www.passapply.com/c4070-604.html
https://www.passapply.com/c4070-604.html

